SISENES Houses Candy Bars
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Three Musketeers For hints, solutions and more puzzles, go to
www.Printable-Puzzles.com!

Butterfinger

Snickers

Twix
bungalow Rewards First Names Candy Bars

country house $620
$630

duplex
$740
ranch house $1320
victorian house $1720

1. Either the person who bought the Baby Ruth or the person who bought the Butterfinger lives in the duplex.
2. The one who received the $620 reward bought the Baby Ruth.

3. The one who received the $740 reward didn't buy the Twix.

4. Of Summer and Madelyn, one earned the $1320 reward and the other bought the Twix.

5. Dennis was rewarded less than the owner of the ranch house.

6. The 5 people were the person who bought the Snickers, the owner of the ranch house, the one who received the
$1720 reward, Caitlyn, and the person who bought the Baby Ruth.

7. The owner of the country house is Ivan.

8. The owner of the bungalow was rewarded less than the person who bought the Snickers.
9. The person who bought the Three Musketeers doesn't live in the bungalow.

10. The person who bought the Snickers received a larger reward than Madelyn.

11. The person who bought the Butterfinger doesn't live in the duplex.
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